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Question Number : 251 Question Id : 21280731631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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MCQ

Which among the following solids is an example of ionic solid ?
(1) Fe, Cu, Ag, Mg

(2) NaCl, MgO, ZnS

(3) Ar, CCl,

(4) SiO,, SiC

Options :

212807126521. 1
212807126522. 2
212807126523. 3
212807126524. 4

Question Number : 251 Question Id : 21280731631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

freq § 4 - g swafE S H1 T IS 2
(1) Fe, Cu, Ag, Mg

(2) NaCl, MgO, ZnS

(3) Ar, CCl,

(4) SiO,, SiC

Options :

212807126521. 1
212807126522. 2
212807126523. 3
212807126524. 4

Question Number : 252 Question Id : 21280731632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL

List -1 List - IT
{A) Molecular solid CaF,
(B) Ilonic solid Cu
(C) Metallic solid CA,
(D) Covalent solid SiC

Choose the correct answer from the options given below :
(1) (AD), (B)(L), (O(11), (D)-(IV)
(2)  (A)-IID, (B)-(IV), (O)-(1), (D)}-(D)
(3)  (AHIV), (B)-(I), (O1I), (D))
(4) (A)IID, (B)-(), (O11), (D)-IV)

Options :

212807126525. 1
212807126526. 2
212807126527. 3
212807126528. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A0, (B-(L), (O~ID), (D)-(IV)

(2) (A)-ID, (B)-(IV), (O-(ID), (D)}

(3)  (A)HIV), (B)-(I), (O)-(1D), (D)-(I1])

(4) (A)-UD, (B)-(D), (O, (D)-(IV)
?1223171512:6525. 1

212807126526. 2

212807126527. 3
212807126528. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the given alkylhalide would undergo racemisation when hydrolysis is done with ag.
KOH ?

(1) Ethyl Chloride

(2) n-propyl Chloride

(3) isopropyl Chloride

(4) n-butyl Chloride

Options :
212807126529. 1
212807126530. 2

212807126531. 3
212807126532. 4
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Options :

212807126529. 1
212807126530. 2
212807126531. 3
212807126532. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is not characteristic of chemisorption ?
(1) Highly specific

(2) Irreversible

(3) Results in unimolecular layer

(4) Low enthalphy of adsorption

Options :

212807126533. 1
212807126534. 2
212807126535. 3
212807126536. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807126533. 1
212807126534. 2
212807126535. 3
212807126536. 4
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Predict the shape of XeOF, on the basis of VSEPR thecry

(1) Linear
(2) Square pyramidal
(3) Pyramidal

(4) Square planar

Options :

212807126537. 1
212807126538. 2
212807126539. 3
212807126540. 4
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Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ
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Options :

212807126537. 1
212807126538. 2
212807126539. 3
212807126540. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A galvanic cell converts :

(1) Electrical energy to chemical energy
(2) Chemical energy to electrical energy
(3) Light energy to electrical energy

(4) Electrical energy to light energy

Options :

212807126541. 1
212807126542. 2
212807126543. 3
212807126544. 4
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Options :

212807126541. 1
212807126542. 2
212807126543. 3
212807126544. 4

Question Number : 257 Question Id : 21280731637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The incorrect equation for Arrhenius equation for activation energy is :

(1) Ink=1InA - %Ine

(2) log k = — Ea 1
2303R Txlog A
(3) k; 2303R\ TT,
Ea 1
logk=— —2 _x = +log A
(4) log 2303R T B

Options :

212807126545. 1
212807126546. 2
212807126547. 3
212807126548. 4
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

212807126545. 1
212807126546. 2
212807126547. 3
212807126548. 4
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Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ

During bromination of phenol, lewis acid is not necessary required because of :
(1) Electromeric effect

(2) Inductive effect of —OH group

(3) +R effect of —OH group

(4) Deactivating effect of —OH group

Options :

212807126549. 1
212807126550. 2
212807126551. 3
212807126552. 4

Question Number : 258 Question Id : 21280731638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

212807126549. 1
212807126550. 2
212807126551. 3
212807126552. 4
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Question Number : 259 Question Id : 21280731639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the formation of a leclanche cell, the space between electrodes is filled with :

(A) ZnCl,
(B) NH,Cl
(C) AICL
(D) ZnS
(E) NH,NO,

Choose the correct answer from the options given below :

(1) (A)and (E) only
(2) (A)and (B) only
(3) (©) and (D) only
(4) (D) and (E) only

Options :

212807126553. 1

212807126554. 2

212807126555. 3

212807126556. 4

Question Number : 259 Question Id : 21280731639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(A) ZnCl,
(B) NH,CI
(C) AICL,
(D) ZnS
(E) NH,NO,
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Options :

212807126553. 1
212807126554. 2
212807126555. 3
212807126556. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - 1L
List -1 List - II
(A) Aluminium () Calamine
(B) Iron (I) Bauxite
(C) Copper (IlT) Malachite
(D) Zinc (IV) Siderite

Choose the correct answer from the options given below :

(1) (A1), B)-(IV), (O-(IL), (D)-()

(2) (A0, B)-(IV), (O-(D), D)1
(3) (A, (B)-(I), (C)-(IL), (D)-(IV)
(4) (A)-(ID), B)-(II), (O-(IV), (D}(D

Options :

212807126557. 1
212807126558. 2
212807126559. 3
212807126560. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension MCQ
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(1) (A)-(D), (B)-(IV), (O-(I), (D)-(D)

(2)  (A)-(D), B)-(IV), (O-(T), (D)-(1D
(3) (AN, B)-(D), (O)-(II), (D)-(IV)
(4) (A0, B)-(II), (CO(IV), (D)-(D)
Options :

212807126557. 1
212807126558. 2
212807126559. 3
212807126560. 4

Question Number : 261 Question Id : 21280731641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ

Chemisorption is favoured by

(1) low enthalpy of adsorption

(2) decreased surface area of the adsorbent
(3) high pressure

(4) low temperature

Options :

212807126561. 1
212807126562. 2
212807126563. 3
212807126564. 4

Question Number : 261 Question Id : 21280731641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e ¥ fag HeEF B
(1) srfsiram & wdd frey 89
(2) SfHeiyor % U3 T AAGA A

(3) I=qE
(49 Terag
Options :

212807126561. 1
212807126562. 2
212807126563. 3
212807126564. 4

Question Number : 262 Question Id : 21280731642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Aldehydes form gem-dialkoxy compound when they are reacted with :
(1) one equivalent of monohydric alcohol in the presence of dry hydrogen chloride
(2) two equivalent of monohydric alcohol in the presence of dry hydrogen chloride
(3) ethylene glycol in the presence of dry hydrogen chloride
(4) hydrogen cyanide in the presence of sodium hydroxide

Options :

212807126565. 1

212807126566. 2

212807126567. 3
212807126568. 4

Question Number : 262 Question Id : 21280731642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Options :

212807126565. 1
212807126566. 2
212807126567. 3
212807126568. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following statements is not correct about cell potential ?
(1) Difference in the electrode potential
(2) Measured when current is flowing
(3) Cell potential depends on temperature
(4) Measured by potentiometer
Options :
212807126569. 1
212807126570. 2

212807126571. 3
212807126572. 4
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Options :

212807126569. 1
212807126570. 2
212807126571. 3
212807126572. 4
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Comprehension MCQ
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C2H5OH "—X—-) C2H5C1 "—Y—)C2H5CN
X and Y used the in above reaction are :

(1) HgCl, and AgCN

(2) SOClL, and KCN

(3) Cl, and KCN

(4) ZnCl,/HCl and AgCN

Options :

212807126573. 1
212807126574.2
212807126575. 3
212807126576. 4

Question Number : 264 Question Id : 21280731644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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C,Hs0H —2—5 C,HsCl —Ys C,HCN
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(1) HgCl, 8 AgCN

(2) SOCL, W& KCN

(3) Cl, wd KCN

() ZnCl,/HCl @& AgCN

Options :

212807126573. 1
212807126574. 2
212807126575. 3
212807126576. 4

Question Number : 265 Question Id : 21280731645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

An inorganic salt taken in a test tube was mixed with of freshly prepared ferrous sulphate solution.
Concentrated sulphuric acid was then added along the walls of the test tube. Predict the formula
of the compound formed :
(1) [Fe(NO)(SOg,]*
(2) [Fe(NO)H,O]*
(3)  [Fe(NO)(H,0),5(S0,),]1
(4)  [Fe(H0)sNOP*
Options :
212807126577 1
212807126578. 2

212807126579. 3
212807126580. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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(1)  [Fe(NO){SOy),]*
(2) [Fe(NO);H,O]*
(3)  [Fe(NO),(HyO0),(S0),1 "
(4) [Fe(H,0);NOJ**
Options :
212807126577. 1
212807126578.2

212807126579. 3
212807126580. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Addition of HCN to carbonyl group results in formation of :
(1) Cyanides

(2) Isocyanide

(3) Cyanc hydrins

(4) Aldehyeles

Options :

212807126581. 1
212807126582. 2
212807126583. 3
212807126584. 4
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Options :

212807126581. 1
212807126582. 2
212807126583. 3
212807126584. 4
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Question Key Details :
Key Value
Comprehension MCQ

The number of unpaired electron in gaseous ions Mn® ¥ (Z =26), V37(Z=23), Cr3*(Z =24) are
respectively :

(1) 4,2,3
(2) 4,42
(3) 3,24
(4) 3,42
Options :

212807126585. 1
212807126586. 2
212807126587. 3
212807126588. 4

Question Number : 267 Question Id : 21280731647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mn?H(Z=26), V3t (Z2=23), Cr** (Z=24) % g sl & swgfima séerie = g sow: 3
(1) 4,23

(2) 4,42

(3) 3,24

(4) 3,42

Options :

212807126585. 1
212807126586. 2
212807126587. 3
212807126588. 4
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Question Key Details :

Key Value
Comprehension MCQ

The process used for the conversion of sugar into Ethanol is :
(1) Distillation
(2) Dehydration
(3) Denaturation
(4) Fermentation
Options :
212807126589. 1
212807126590. 2

212807126591. 3
212807126592. 4

Question Number : 268 Question Id : 21280731648 Question Type : MCQ Option Shuffling : No Is Question Mandai
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(1) STHeH
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Options :

212807126589. 1
212807126590. 2
212807126591. 3
212807126592. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Mercury is not considered as transition metal however it has tendency to react with chlorine to
form chlorides X and Y. X reacts with Kl to give red ppt while Y doesn’t react. On the contrary, Y
react with NH,OH to give a black ppt. Predict the formula of X and Y :

(1) X=Hg,(l,, Y=Hg(l

(2) X=Hgy(l,, Y=HgCl,

(3) X=HgCl,Y=HgCl,
(4) X=HgCl,, Y=Hg)Xl,

Options :

212807126593. 1
212807126594. 2
212807126595. 3
212807126596. 4

Question Number : 269 Question Id : 21280731649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

HReRd Hepyw e | whinferd w8 § ey gy aelfa & sifufpm o sefuge X g Yy I &1 X, K13 @y
sifufsrar 03 et sradra ot 8 won Y sfufiean €l s s faoda Y, NH,OH 3w sifufiea o
TGN ST A ¥ 1 X a2 Y g uftwfe il ;

(1) X=Hgy(l,, Y=Hg(l

(2) X=Hg,(l,, Y=HgCl,

(3) X=HgCl, Y=HgCl,

(4) X=HgCl,, Y=Hg,(l,

Options :

212807126593. 1
212807126594. 2
212807126595. 3

s collegedunia:

-



212807126596. 4

Question Number : 270 Question Id : 21280731650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The TUPAC name of the coordination compound [CoCl,(en),] * is :
(1) Dichlorobis {ethane 1, 2-diamine) Cobalt (III)
(2) Dichlorido ethylene diammine Cobalt (I)
(3) Dichlorodiethlene diammne Cobalt (II)
(4) Dichloridobis (ethane - 1, 2-diamine) Cobalt (III)
Options :
212807126597. 1
212807126598. 2

212807126599. 3
212807126600. 4

Question Number : 270 Question Id : 21280731650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[CoCl,fen),] + Tuwg Harsiss RfiTes 1 I[UPAC 71 § :
(1) erEedfod (€8 1, 2-SRETHN) Haee (1)

(2) erEARfE fafar edtd S ()

(3) SrRFANSLRAT SEAHA e (110)

(4) ergenEl fag (T8-1, 2- SEtH) e (1)

Options :

212807126597. 1
212807126598. 2
212807126599. 3
212807126600. 4

Question Number : 271 Question Id : 21280731651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Correct IUPAC name of the compound given below is :

/vr\\/

(1) 5-Ethoxy heptane

(2) 3-Ethoxy heptane

(3) 1-Heptoxy ethane

(4) 1l-methyl-2-ethoxy hexane
Options :

212807126601. 1
212807126602. 2

s collegedunia:
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212807126603. 3
212807126604. 4

Question Number : 271 Question Id : 21280731651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Hiy fed 7 R &1 g TUPAC 9 2

W
o~
(1) 5Tt <A
(2) 3-Nefiad IR
(3) 1-TetRdy udw
(4) 1-Hfer-2-toied dadw
?122?)2?2:6601. 1
212807126602. 2

212807126603. 3
212807126604. 4

Question Number : 272 Question Id : 21280731652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Actinoid contraction is of greater extent then lanthanide contraction because :
(1) poor shielding effect of 4f electrons
(2) poor shielding effect of 5d electrons
{3) more poor shielding effect of 5f electrons than 4f electrons
(4) more poor shielding effect of 4f electrons than 5f electrons
Options :
212807126605. 1
212807126606. 2

212807126607. 3
212807126608. 4

Question Number : 272 Question Id : 21280731652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Wt st SoTTS stigre @ e wen o St § 4l
(1)  4f TAREA 1 goa uieo yv

2) 5d SERTH @ geer ufieer g

3)  5f S I 4f AL o] oI H TP galet aRer e
(4)  Af SEFRTH $1 5f TARH w1 o § Ay gaa wfegrm yurg

—

s collegedunia:
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Options :

212807126605. 1
212807126606. 2
212807126607. 3
212807126608. 4

Question Number : 273 Question Id : 21280731653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Glycoside linkage is the ether bond present in between two :
(1) Amino acids

(2) Nucleic acids

(3) Vitamins

(4) Monosaccharides

Options :

212807126609. 1
212807126610. 2
212807126611. 3
212807126612. 4

Question Number : 273 Question Id : 21280731653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fre1 & g oRROE TR SR T Bd R
(1) T s
(2) YR I

(3) Teefaq
(4) HrirdEEe
Options :

212807126609. 1
212807126610. 2
212807126611. 3
212807126612. 4

Question Number : 274 Question Id : 21280731654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:
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Which of the following relationships are not correct ?

o 0.0591
(A) Een = e log Kc

(B) ‘\mo Na2804 = kmo(Na ¥ ) + Rm°(8042_ )

Conductivity

(C) Cell constant =

Conductance

(D) AG°=nF EoC’ell
(E) Zn(s)‘an + (aq)‘ ‘Cuz + (aq)‘(:u

Choose the correct answer from the options given below :

(1 (B), (O), (D) only
(2) (A), (B), (D) only
(3) (B), (C), (D), (E) only
(4) (A) (O), (E) only
Options :
212807126613. 1
212807126614. 2

212807126615. 3
212807126616. 4

Question Number : 274 Question Id : 21280731654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
et § i-wn daw wd 181 32
o 0.0591
(A) Een = log Kc

(B) A,° NaySO,= A °(Nat)+x *(SO,27)

. e
(O Wm—ﬁ

(D) AG®=nF E°,,
(B)  Zng|Zn?* ,y[|Cu?™ u|Cu

H9 few e Tereredt | WY S S w=H Fifeu

(1) %94 (B), (O), (D)
(2) w9 (A), (B), (D)
(3) %9d (B), (O), (D), (B)
(4) 94 (A), ©), (B)

Options :

212807126613. 1
212807126614. 2
212807126615. 3
212807126616. 4

gcollegeduniag
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Question Number : 275 Question Id : 21280731655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The rate constants of a reaction at 200 K and 300 K are 0.02 s~ ! and 0.04 s~1. Ea for this reaction
will be :

(1) 2.9 k/mol

(2) 3.4 KkJ/mol

(3) 345 kJ/mol

(4) 344 k/mol

Options :

212807126617. 1
212807126618. 2
212807126619. 3
212807126620. 4

Question Number : 275 Question Id : 21280731655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

syffaran s & feerie 200 K 921 300 K W sHEY: 0.02 s~ 1 99 0.04 s~ 1 81 2@ 3fufsn ¥ fou Ba 801
(1) 2.9 KkJ/mol
(2) 34 KJ/mol
(3) 34.5 kJ/mol
(4) 344 KJ/mol
Options :
212807126617. 1
212807126618. 2

212807126619. 3
212807126620. 4

Question Number : 276 Question Id : 21280731656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Among the following ethers, which cannot react with HI ?

m ¢ H—ocy
o Qoo
@ {0« )
@ (o<

Options :
212807126621. 1

s collegedunia:
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212807126622. 2
212807126623. 3
212807126624. 4

Question Number : 276 Question Id : 21280731656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fresferfean Sodl & & S I ¥ W sifufrn TR e wwmr §2

Options :

212807126621. 1
212807126622. 2
212807126623. 3
212807126624. 4

Question Number : 277 Question Id : 21280731657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - IT

(A) XeO, M0 sp>d?
(B) XeF, I sp*d®
(C) XeOF, (1) spid
(D) XeOF, vy sp®

Choose the correct answer from the options given below :
(1) (A)IV), (B)-(I1), (1), (D)-(ID
(2)  (A)-D), (B)-(ID, (O)-{1), (D)-(IV)
(3)  (A)-ID, (B)-(I), (O)1I), (D)-(IV)
(4)  (AI), (B)-(D, (O-1IV), (D)-(ID

Options :

212807126625. 1
212807126626. 2
212807126627. 3
212807126628. 4

Question Number : 277 Question Id : 21280731657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
s collegedunia:
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Question Key Details :

Key Value
Comprehension MCQ

Tt - T ot - I & Wiy Terars sifom)
el - 1 gt - 11

(A) XeOy O sp’d?
(B) XeF, (I sp>d®
(©) XeOF, () spid
(D) XeOF, vy sp®

9 fou o fyaedt & W S8 &1 =H FHifau
(1)  (A)IV), (B)-(ID), (O)-(), (D)-(11)

(2) (A, (B)-(ID, (O)-(11I), (D)-(IV)

(3)  (A)ID, (B)-(1), (O~ID), (D)-(IV)

4) (A)-D), (B)-(ID, (O)-(V), (D)-(11)

SO 26625, 1

212807126626. 2

212807126627. 3
212807126628. 4

Question Number : 278 Question Id : 21280731658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - [ with List - IL
List -1 List - II
@/CHS Cr0,Cl, @/CHO
{A) Clemensen reduction I H,O n
N NH,NH, |
(B) Kolbe's reaction (Im C=0 Tso.l.—* CH,
(C) Etard reaction (1) C O+HCI —g* CH,
OH o y COOH
(D) Wolf Kishner reduction (IV) O/ NaOH, H+

H
Choose the correct answer from the options given below :

(1) A1), B)-(I), (C)-(), (D)-(IV)
(2)  (A)D, (B)}-(ID), (CO)-(II), D)-{IV)
(3) (A, (B)-(IV), (O)-(T), (D}(D)
(4)  (A)IID, (B)}-(IV), (O)-(D, (D)1

s 136629. 1 .
s collegedunia:
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212807126630. 2
212807126631. 3
212807126632. 4

Question Number : 278 Question Id : 21280731658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teft - T gt - I & €y Terar i)
Tt - 1 Tt - 11

s cro,0, CHO
(A) FATTA ST ) ©/ TBOT—*U

(B) el sifufiFen ) o 02 Ny
’ H,0t ~ /72
(C) S sifufean @) C=0+HCI ﬂ»)c}iz
OH co, COOH
(D) Hew-Tear e (IV) Q/ NaOH’Hi .

i Teu u Tasred] o WEr ST 1 99 ST
(1) (A1), (B)-(D, (O)-(I1L), (D)-(IV)
(2) (A0, (B)-(ID, (O-(L), (D)~(IV)
(3)  (A)-(IID, (B)-(IV), [©)-(L), (D)-(D
(4) (A)-D), (B)-(IV), (O-(D), (D)~(I)

212807126631. 3
212807126632. 4

Question Number : 279 Question Id : 21280731659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Unit of rate constant for zero order reaction is :
() s1
(2) mol 1Ls™!
(3) molL™1,s!
(4) mol~1,L-1g
Options :

212807126633. 1
212807126634. 2

212807126635. 3
s collegedunia:
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212807126636. 4

Question Number : 279 Question Id : 21280731659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

gsr{lprehension IY/Ia(l;g
2 Hife sifufiean & faw & feads i fas 8
(1 st

(2) mol1Ls—1
(3) molL™1, 51
(4) mol 1,17 15
Options :
212807126633. 1
212807126634. 2

212807126635. 3
212807126636. 4

Question Number : 280 Question Id : 21280731660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - IT
(A) D (Il Loss of blood clotting
B C (I)  Rickets
(O Bg (Illy  Scurvy
(D) K (IV) Convulsions

Choose the correct answer from the options given below :

(1) (A, (B)-(ID, (O)-(1D), (D)-(IV)
(2)  (A)ID, (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(D), (CO)-(1V), (D}-(D
(4)  (A)(I), B)-(IID), (C)-(I), (D)-(IV)

Options :

212807126637. 1
212807126638. 2
212807126639. 3
212807126640. 4

Question Number : 280 Question Id : 21280731660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

-
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T ~ 1 Gt - 11 % @y fuer sifau)
T - 1 it - 11

(A) D Oy G % G Y Y A o
(B C (n frzw

(Q) B, (III) &

(D) K (Iv) \g v

e fed ) Tamedi O O W Sw S T i
(1) (A)(D), (B)-(ID), (C)-(I1I), (D)~(IV)

(2)  (A)-(LD, (B)-(I), (O)-(IV), (D)-()

(3) (A1), (B)-(IIL), (C)-(IV), (D)-(D)

4) (A1), (B)-(II), (O)-(I), (D)-(IV)

Options :

212807126639. 3
212807126640. 4

Question Number : 281 Question Id : 21280731661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements are correct ?
(A) AsH, > PH, > NH, (decreasing order of basic strength)
(B) HyO > NH; > PH; (decreasing order of boiling point)
(©) NO > NO, > N,O, {decreasing oxidation state of nitrogen)
(D) H4P,04 > HyP,Oy > HyPO, (decreasing oxidation state of phosphorus)
() H,O>H,S > H,Se {decreasing thermal stability)
Choose the correct answer from the options given below :
(1) (A)and (B) only
(2) (C) and (D) only
(3) (B)and () only
(4) (D)and (E) only
Options :
212807126641. 1
212807126642. 2

212807126643. 3
212807126644. 4

Question Number : 281 Question Id : 21280731661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag
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fre § w1 FoF WE R 7

(A) AsH,> PH, > NH, (8 Ya@idl &1 92 %)

(B) H,O > NH, > PH, (Fa9-{as 1S40 354)

(C) NO > NO, > N,O, (AR w1 wed] sffmddfietn staren)

(D) H,4P,0, > HP,0x > HPO, (HEwRE 1 szt siferfiercor sfereen)
() H,O>H,S>H,Se (wear arfty wrie)

e fed ) famedi A O WE I o T sl

(1) aa (A) 3 (B)
(2 Faa () (D)
(3) et (B) 3N (B)
(4) FEdA (D) M (E)

Options :

212807126641. 1
212807126642 2
212807126643. 3
212807126644. 4

Question Number : 282 Question Id : 21280731662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
O O OH O

il

C

Il B | +
CH,-C-O-H<«—>CH,;-C=0-H

A and B represent :
(1

(3

T A | I
CH,— C—CH,~ C—OC,Hy «—=— CH,-C=CH-C-0CH;

)

) Tautomerism and Resonance
{(2) Metamerism and Resonance
) Rescnance and Tautomerism

(4) Metamerism and Tautomerism

Options :

212807126645. 1
212807126646. 2
212807126647. 3
212807126648. 4

Question Number : 282 Question Id : 21280731662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag
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O O OH O

[ f A | I
CH,— C—CH,— C—OC,Hg «—2— CH,;-C=CH-C-0CH,

Q B Q.
CH,-C-O-H<«——CH,-C=0-H
A g1 B wefifa swar 2 ;

(1) AT G2 S
2)  HEHETEd qYl STE
3)

p—

( STAAE A FATAHE
(4) HEAEIEA T FeAAYHA
Options :

212807126645. 1
212807126646. 2
212807126647. 3
212807126648. 4

Question Number : 283 Question Id : 21280731663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Cr?* is stronger reducing agent than Fe? ¥ because :
(1) it has exactly full filled configuration
2) @3 configuration of Cr® " is more stable than d” configuration of Fe** in aqueous solution
gu gur q
(3) oxidises easily to form Cr**
(4) Fe?? is quite stable and does not oxidise
Options :
212807126649. 1
212807126650. 2

212807126651. 3
212807126652. 4

Question Number : 283 Question Id : 21280731663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Cr2*, Fe2* 1 Jorl § Yool STUareh § il

(1) sow ferg gof wf@ §

(2) w¥Cot @ fam H FePt Y d° Taemd & sifbre v 7
(3) ot d Crtt A sitwdEd & e g

(4) Fe2+ wod & aor sifardtepra =1 dran

o366, 1

212807126650. 2
212807126651. 3

s collegedunia:

-



212807126652. 4

Question Number : 284 Question Id : 21280731664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Given :
k= 2BV,
B pgt 7ag =080 V.
E bz Hg 0.79 V,
E Mg+ g™ ~237 V,
E ot/ = 074V,

Choose the correct order :

(A) Ag <Hg < Cr < Mg < K (increasing reducing power)
(B) Ag <Hg < Cr < Mg < K (decreasing oxidising power)
(C) Ag>Hg> Cr> Mg > K (decreasing oxidising power)
(D) Hg > Cr> Ag > K > Mg (increasing reactivity)

(E) K> Mg > Cr>Hg> Ag (decreasing reactivity order)
Choose the correct answer from the options given below :
(1) (A), (C) and (E) only

(2) (B), (C) and (B) only

(3) (O, (D) and (E) only

(4) (A) and (B) only

Options :

212807126653. 1
212807126654. 2
212807126655. 3
212807126656. 4

Question Number : 284 Question Id : 21280731664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-
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T

E =29V,

EAgﬂ’As

E 2 /g 0.79 V,

=0.80V,

=

My* /Mg ™ -237V,

Cﬁ%"'/Cr= -0.74 V,

REE R SN

=

(A) Ag < Hg < Cr< Mg <K (9gdl 399 &7He1)
(B) Ag < Hg < Cr< Mg <K (Ut i s07e)
(C) Ag>Hg> Cr> Mg >K (¥l sfaRfia sim)
(D) Hg>Cr> Ag>K > Mg (srdl frmsfieran)
(E) K>Mg > Cr> Hg > Ag (St Bramwfiert %9)
9 f&d & fawed § 9 Wl T w99 Fifa

(1) & (A), (©) ¥R (E)
(2) Fee (B), (C) 3 (B)
(3) &wFA (Q), (D) 3R (B)
(4) o (A) ol (B)

Options :

212807126653. 1
212807126654. 2
212807126655. 3
212807126656. 4

Question Number : 285 Question Id : 21280731665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



Predict the product for the reaction :

COOAg

+Br, ——>

COOBr
(1)

Br
(2)

COOH
(3)

Br

COOH
(4)

Br

Options :

212807126657. 1
212807126658. 2
212807126659. 3
212807126660. 4

Question Number : 285 Question Id : 21280731665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-
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it & fog Joure o1 fteerm ifs .
COOAg

+Br2 S

COOQOBr
(1)

Br
(2)

COOH
ot

Br

COOH
(4)

Br

Options :

212807126657. 1
212807126658. 2
212807126659. 3
212807126660. 4

Question Number : 286 Question Id : 21280731666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following according to their coagulating power towards a positively charged colloid :

(A) [Fe(CN) 6]4_

(B) PO~
©) C1-
(D) $2°

(E) NH;

Choose the correct answer from the options given below :
1) E<Q<D)<(B)<(A)

(2) (BE)<(Q<(D)<(A)<(B)

(3) (B)<(Q)<(A)<(B)<(D)

@) E<Q<B)<D<(A)

Options :
212807126661. 1

gcollegeduniag
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212807126662. 2
212807126663. 3
212807126664. 4

Question Number : 286 Question Id : 21280731666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frreiferfiaa =) STt i gud B YToHS Safva Siaits & ufd, e gvEr S snur W sratied

Hife
(A) [Fe(CN)J*~

(B) POS-
© a-
(D) S~

(F) NH,

9 T u Taspedi § WEr S99 S

(1) (B)<(Q) <(D)<(B)<(A)
(2) (B)<(Q) <(D) <(A)<(B)
(3) (B <) <(A)<(B)<(D)
(4) (B)<(O) <(B) <(D) < (A)
Options :

212807126661. 1

212807126662. 2

212807126663. 3
212807126664. 4

Question Number : 287 Question Id : 21280731667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

H-bond does not exist in :

(1) tertiary structure of proteins

(2) 2-helix structure of proteins

(3) B-pleated structure of proteins
(4) Primary structure of proteins

Options :

212807126665. 1
212807126666. 2
212807126667. 3
212807126668. 4

Question Number : 287 Question Id : 21280731667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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'Value

Comprehension
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Options :

212807126665. 1
212807126666. 2
212807126667. 3
212807126668. 4

Question Number : 288 Question Id : 21280731668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Arrange the following Nucleophiles in the decreasing order of their attacking strength :

eelely
(A)

(B) CH,CH,CH,COO"~
(C) CH,CH,CH,CH,5~
(D) CH,CH,CH,CH,0~

Choose the correct answer from the options given below :

(1 B >D)>(4)>(©O
(2) (O>(D)>(B)>(A)
3 ©>B)>D) >
4) (B)>(A)>()>(D)

Options :

212807126669. 1

212807126670. 2

212807126671. 3
212807126672. 4

Question Number : 288 Question Id : 21280731668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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COO™

o

(B) CH,CH,CH,COO™
(C) CH,CH,CH,CH,S™
(D) CH,CH,CH,CH,O~
9 few e Tasmedi § W SO w1 T il .
(1 B>D)>A) >
(2) (©)>([D)>(B)>(A)
3) ©O>@B>(D>(A)
4) B>A)>O)>(D)

Options :

212807126669. 1

212807126670. 2

212807126671. 3
212807126672. 4

Question Number : 289 Question Id : 21280731669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List - I with List - IL

List - I List - IT

(A) Nylon Iy Terylene

{(B) Polyester (I) Caprolactam
(C) Bakelite (Illy Isoprene

(D) Rubber (IV) Novolac

Choose the correct answer from the options given below :
(1) (AIV), (B)-(ID, )W), (D)}-(T)
(2)  (A)-UD, (B)-(D), (O-IV), (D)ID)
(3) (A, B)-(D), (O)-(IV), (D)-(IID)
(4)  (A)-1D), B, (O-(D), (D)-(IV)

Options :

212807126673. 1
212807126674. 2
212807126675. 3
212807126676. 4

Question Number : 289 Question Id : 21280731669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value I

Comprehension MCQ '
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gt ~ 1 Gt - 11 % @y fuer sifau)
gt - 1 gt - 11
(A) e @ e
(B) Tuiferueer () Fidee
(C) awense (1) sTEhts
(D) &Y (IvV) <rarres
i fe ru Tawed | T 39 93 Hifag
(1) (A1), (B)-(ID), (O-I0), (D)D)
(2) (A, (B)-(0), (O)-(IV), (D)(I)
(3)  A)-(D), B)-0), (O-1Vv), (D)-{1D
(4)  (A)ID), B)-III), (COR(D), (D)-(IV)
gll;t;gl;TZ:%B. 1
212807126674. 2

212807126675. 3
212807126676. 4

Question Number : 290 Question Id : 21280731670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value

Comprehension MCQ

Match List - I with List - IL

List - 1 List - II

(A) Antifertility drug Iy 1% solution of phenol
(B) Tranquilizers (Il) Novestrol

(C) Analgesics (IINy Noradrenalin

(D) Disinfectant (IV) Aspirin

Choose the correct answer from the options given below :
(1) (A, B)-(IID), (O)-(IV), (D)}-(D)
(2) (A1), (By-(ID), (C)-{II), (D)-(IV)
(3) (A, B)-(II), (O-(IV), (D)-(D)
(4) (AyID, (B)-IV), (O)-(D), (D)-(ID)

Options :

212807126677. 1
212807126678. 2
212807126679. 3
212807126680. 4

Question Number : 290 Question Id : 21280731670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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g ~ 1 Gt - 11 % @y foerr sifau)

gt - 1 gt - 11
(A) uftrsa g oy () il w0 1% TaerA
(B) i (I ot
(© drerd ) e
(D) Tadsmr (vy tfef
A fe u Towed | TE 39 H g9 Hifag
(1) (A)ID), B)-II), (CO(1V), (D)D)
(2)  (A)-D, (B)-(ID), (O)-(IIT), (D)-(IV)
(3)  (A)-(D), (B)-(Im), (C)-(IV), (D)-()
(4) (A, (B)-(V), (O-(0), (D)-(I)
SasoTisgeTT
212807126678. 2

212807126679. 3
212807126680. 4

Sub-Section Number : 2
Sub-Section Id : 2128072497
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 291 Question Id : 21280731671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

The properties which depend on the number of solute particles irrespective of their nature relative
to the total numbers of particles in the solution are called colligative properties. These are relative
lowering of vapour pressure, of the solvent, depression of freezing point of the solvent, elevation of
boiling point of the solvent and osmotic pressure of the solution. All of their particles help in
calculating the observed molar mass of the solute. Determination of osmatic pressure is considered
best for the determination of molecular mass of the solute.

The binary liquid mixtures which show negative deviation from Raoult's law are :
{A) n-hexane and n-heptone

(B) phenol and acetone

(C) Ethanol and acetone

(D) Chloroform and acetone

(E) Benzene and toluene

Choose the correct answer from the options given below :
(1) (A)and (B) only

(2) (O) and (E) only

(3) (B) and (D) only

(4) (A)and (E) only

Options :

212807126681. 1
gcollegeduniaa
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212807126682. 2
212807126683. 3
212807126684 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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guft v, S frer F ol g wo Y den qen g ol # den S srqum sk s 9 R
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factrs & farrte 9 staA, T 3 Faudiss o1 =1, Riorrm w1 voao g anfe @ defua &1 &%
it wo fadrn & AT Her germE w5 o w3 F wee i B womw wa o fraboor frete &

Fyfverss gemaE 3 Trufoor & fou s e srar §1
feaitht Pygw <t weee Frag @ savneas fraer weifa @ &

(A) n-FF U n-TRA
(B) wrlet v Tl
(C) e o T
(D) Ferdwrd vd Tdiee
(B) S ol efee

9 f&d 13 faredi 9 @ T S = 9w wifse

(1) e (A) T (B)
(2) %wE (C) T (E)
(3) e (B) W (D
(4) THEE (A) T (B

Options :

212807126681. 1
212807126682. 2
212807126683. 3
212807126684. 4
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The properties which depend on the number of solute particles irrespective of their nature relative
to the total numbers of particles in the solution are called colligative properties. These are relative
lowering of vapour pressure, of the solvent, depression of freezing point of the solvent, elevation of
boiling point of the solvent and osmotic pressure of the solution. All of their particles help in
calculating the observed molar mass of the solute. Determination of osmatic pressure is considered
best for the determination of molecular mass of the solute.

A solution of 12.5 g of an unknown solute in 170 g. Water gave a beiling point elevation of 0.63 K.
k,, for water is 0.53 K kg mol~ 1. The molar mass of the solute is :

(1) 61.85 g mol ™!

(2) 87.3 g/mol

(3) 139 gmol~!

(4) 56.7 gmol ™!
Options :

212807126685. 1
212807126686. 2
212807126687. 3
212807126688. 4

Question Number : 292 Question Id : 21280731672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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guft v, < foerm F Sufrm Fo i # den qon g wi F den F e sk w A R
ot & il 9 wfa w0 TR T svopie ot weemd € 3 oo & wrw g % smifares sta,
factrs & Tovrten v s1g, T ¥ Faudiss o1 =1, Taerm o1 vogo g« anfe & defaa &1 &%
gt o fadta & Ifa e germE = wo A F w0 B womw wa o faaboor e &
anfoerer geomar & Fufoor & forn Srs wrmn san €1

170 g % W Tyerad ovsma fada 91 125 ¢ B151 0.63 K waertes & 974 ¥en €1 9t & g k=053
K kgmol 11 Tadra o dror germa 7

(1) 6185 gmol~!

(2) 873 g/mol

(3) 13.9 gmol~1

(4) 567 gmol™!

Options :

212807126685. 1
212807126686. 2
212807126687. 3
212807126688. 4

Question Number : 293 Question Id : 21280731673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The properties which depend on the number of solute particles irrespective of their nature relative
to the total numbers of particles in the solution are called colligative properties. These are relative
lowering of vapour pressure, of the solvent, depression of freezing point of the solvent, elevation of
boiling point of the solvent and osmotic pressure of the solution. All of their particles help in
calculating the observed molar mass of the solute. Determination of osmatic pressure is considered
best for the determination of molecular mass of the solute.
Which solution has the highest boiling point ?
(1) 0.1 m glucose
(2) 0.5 m glucose
(3) 1 m glucose
(4) 2 m glucose

Options :

212807126689. 1

212807126690. 2

212807126691. 3
212807126692 4

Question Number : 293 Question Id : 21280731673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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guft v, S frerg F el g w0 Y den qen g ol # den d srpum Ak s A R
ot & il 9 wfa w0 TR T svopie ot weemd € 3 oo & wrw g % smifares sta,
faetrern % vt v sy, oo & wauaie w1 s, Rorr =1 wowoo g onfe & deifua &1 %
st o fad ¥ I Hier geumm # o e H werea oA B 9w g o fuabon frda $
snfoees geaE & Frutoor & forw s w sman 81

$¥ @ frer TeIay SaeEiE W g

(1) 0.1 m TEHE

(2) 0.5 m TEHd

(3) 1 m VE[HN

(4) 2m HE

Options :

212807126689. 1
212807126690. 2
212807126691. 3
212807126692. 4

Question Number : 294 Question Id : 21280731674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The properties which depend on the number of solute particles irrespective of their nature relative
to the total numbers of particles in the solution are called colligative properties. These are relative
lowering of vapour pressure, of the solvent, depression of freezing point of the solvent, elevation of
boiling point of the solvent and osmotic pressure of the solution. All of their particles help in
calculating the observed molar mass of the solute. Determination of osmatic pressure is considered
best for the determination of molecular mass of the solute.

Based on solute solvent interactions, arrange the following in order of increasing solubility in
n-octane.

(A) Cycloheptane

(B) NaCl
(C) CH,OH
(D) CH,CN

Choose the correct answer from the options given below :
(1) (D) <) <(B)<(A)
(2) (B)<(C) < (D) <(4)
(3) (A)<(D)<(C) < (B
(4) (B)<(A)<(D)<{©)
Options :
212807126693 1
212807126694. 2

212807126695. 3
212807126696. 4

Question Number : 294 Question Id : 21280731674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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gt 7o, it frerem H suflerd o woll ) dem qen T w9 dem d s w ik wR t 9 e
fodta 3 il Y wepld w1 U o sropde querd wEer § A froras & arsy w3 smifis st
factrern 3 Tavisn 1 staqyga, Trarass & Fauais 1 o=, Taerm o gaaee e safe § efua &
FF @l o A A e gAY o A § SR H B qgT grs w1 Rl e
% anfoes geygr & Frafvor & forg g wrn s B

fada-faargs srafrm & SR W n-21fRy o fadaa & sed %y o syaferm wife)

(A) HEFEAEE

(B) NaCl
(C) CH,OH
(D) CH,CN

Hi feu e Tared! O W@ S o T Fifau .
(1) (D)< <(B)<(A)
(2) B<©O<D=<(A
(3) (A)<D)<()<(B
4) B)Y<(A)<D)<©

Options :
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212807126693. 1
212807126694. 2
212807126695. 3
212807126696. 4
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The properties which depend on the number of solute particles irrespective of their nature relative
to the total numbers of particles in the solution are called colligative properties. These are relative
lowering of vapour pressure, of the solvent, depression of freezing point of the solvent, elevation of
boiling point of the solvent and osmotic pressure of the solution. All of their particles help in
calculating the observed molar mass of the solute. Determination of osmatic pressure is considered
best for the determination of moelecular mass of the solute.

A 1 litre solution of glucose containing 36 g of it has an osmotic pressure of 4.98 bar at 300 K. At
the same temperature, the osmotic pressure of the solution is 1.52 bar. The concentration of the
solution at 1.52 bar is:

(1) 0.0610 mol~1

(2) 10.9 mol~1!

(3) 1.6 mol~1
(4) 0.00610 mol—1
Options :

212807126697. 1
212807126698. 2
212807126699. 3
212807126700. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

gt v, S frere o Sl g woi S den qen e el ) den b s sk wa da fe
fadra & ol o wele wv) W o syopie o] wEerd § F faomas & wr ge F srrifire st
faorrern & favter o staa, faenes & wauaie o s, Torr o1 wogoo g sufe & deifua &1 &%
asft o fadg & g Hor gouar & o wG H weem w@ §1 e g o Fubor fda &
anfoeer geomE & Frutoor & forw Srs wrmn san €1

1 offex fererast o Te[n1g 36 g €, TorOet 300 K U 9TET0 <74 4.98 bar ¥1 H9H dwEH R fere @i
YU @ 152 bar 81 1.52 bar W e o grEa ¥

(1) 0.0610 mol~!
(2) 10.9 mol 1

(3) 1.6 mol-1
(4) 0.00610 mol !
Options :

212807126697. 1
212807126698. 2

212807126699. 3
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Werner was the first to describe the bonding features in coordination compounds. But his theory
could not answer basic questions like :

(i) Why only certain elements possess the remarkable property of forming coordination

compounds ?

(ii) Why the bonds in coordination compounds have directional properties ?
(iii) Why coordination compounds have characteristics magnetic and optical properties ?
Many approaches have been put forth to explain the nature of bonding in coordination compounds

viz. Valence Bond Theory (VBT), Crystal Field Theory (CFT), Ligand Field Theory (LFT) and
Molecular Orbital Theory (MOT). We shall focus our attention on elementary treatment of the

application of VBT and CFT to coordination compounds.

According to this theory, the metal atom or ion under the influence of ligands can use its
(n—1)d, ns np or ns, np, nd orbitals for hybridisation to yield a set of equivalent orbitals of definite
geometry such as octahedial, tetrahedial, square planar and so on. These hybridised orbitals are
allowed to overlap with ligand orbitals that can donate electron pairs for bonding.

The formula which correctly represents Potassium tetra hydioxo zincate (I) is :

(1) K[Zn(OH)4]
(2) K;[Zn(OH)l,
(3)  K4lZn(OH)4]
(4) K,[Zn)OH),]
Options :
212807126701. 1
212807126702. 2

212807126703. 3
212807126704. 4
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(1) K[Zn(OH),]

(2) K3[Zn(OH)],

(3) KyZn(OH)]

(4) K,[Zn)OH)]

Options :

212807126701. 1
212807126702. 2
212807126703. 3
212807126704. 4
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Werner was the first to describe the bonding features in coordination compounds. But his theory

could not answer basic questions like :

(i) Why only certain elements possess the remarkable property of forming coordination
compounds ?

(ii) Why the bonds in coordination compounds have directional properties ?

(iii) Why coordination compounds have characteristics magnetic and optical properties ?

Many approaches have been put forth fo explain the nature of bonding in coordination compounds

viz. Valence Bond Theory (VBT), Crystal Field Theory (CFT), Ligand Field Theory (LFT) and

Molecular Orbital Theory (MOT). We shall focus our attention on elementary freatment of the

application of VBT and CFT to coordination compounds.

According to this theory, the metal atom or ion under the influence of ligands can use its

(n—1)d, ns np or ns, np, nd orbitals for hybridisation to yield a set of equivalent orbitals of definite

geometry such as octahedial, tetrahedial, square planar and so on. These hybridised orbitals are

allowed to overlap with ligand orbitals that can donate electron pairs for bonding,.

CoCl;-6NH, gives 3 modes of AgCl on reacting with AgNO,. The correct formula for this compound

(1)- Co(NH,)]CLy

[
(2)  [CoCl(NHg)5]ClyNH;
(3)  [CoClL,(NH,),ICI2NH,
(4) [CoCL(NH,),]-3NH,
Options :

212807126705. 1
212807126706. 2
212807126707. 3
212807126708. 4
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Frerfafiaa s & YR W Y

Irugdses Afrwl ¥ snau ot el o aoda adyary sy few o udy ae fagty frey s we
T IW TE R A -

() = P @ aell ¥ seggddrsH @i s fafire qo e s g ?

(i) Soggddre A F onad H feereas ot s org wrd ¥2

(i) o4 e AR § fafirse gas qun e gt o qg @ €7

IraggasH A § eneye oY yefy @ wmed ¥ o ot e faw e men W@ sy fagld
(VBT), forezer &t fagfa (CFT), Forree & fagia (LFT), sufvas e fagla (MOT) 1 v e Frat
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(1) [Co(NH,)]Cly
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(3)  [CoCly(NH,),JCI2NH,

(4) [CoCl;(NH,);]-3NH,
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Werner was the first to describe the bonding features in coordination compounds. But his theory
could not answer basic questions like :
(i) Why only certain elements possess the remarkable property of forming coordination
compounds ?

(ii) Why the bonds in coordination compounds have directional properties ?
(iii) Why coordination compounds have characteristics magnetic and optical properties ?
Many approaches have been put forth fo explain the nature of bonding in coordination compounds
viz. Valence Bond Theory (VBT), Crystal Field Theory (CFT), Ligand Field Theory (LFT) and
Molecular Orbital Theory (MOT). We shall focus our attention on elementary freatment of the
application of VBT and CFT to coordination compounds.

According to this theory, the metal atom or ion under the influence of ligands can use its
(n—1)d, ns np or ns, np, nd orbitals for hybridisation to yield a set of equivalent orbitals of definite
geometry such as octahedial, tetrahedial, square planar and so on. These hybridised orbitals are
allowed to overlap with ligand orbitals that can donate electron pairs for bonding,.
Predict the shape of [Ni(CO),] on the basis of VBT :
(1) Square Planar
(2) Tetrahedial
(3) Inner octahedral
(4) Outer octahedial
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Werner was the first to describe the bonding features in coordination compounds. But his theory

could not answer basic questions like :

(i Why only certain elements possess the remarkable property of forming coordination
compounds ?

{(ii) Why the bonds in coordination compounds have directional properties ?

{(iii) Why coordination compounds have characteristics magnetic and optical properties ?

Many approaches have been put forth to explain the nature of bonding in coordination compounds

viz. Valence Bond Theory (VBT), Crystal Field Theory (CFT), Ligand Field Theory (LFT) and

Molecular Orbital Theory (MOT). We shall focus our attention on elementary treatment of the

application of VBT and CFT to coordination compounds.

According to this theory, the metal atom or ion under the influence of ligands can use its

{n—1)d, ns np or ns, np, nd orbitals for hybridisation to yield a set of equivalent orbitals of definite

geometry such as octahedial, tetrahedial, square planar and so on. These hybridised orbitals are

allowed to overlap with ligand orbitals that can donate electron pairs for bonding.

Predict the type of hybridisation state in [CoF]3~

(1) sp®

(2) dsp?

(3) sp’d?

(4) d%p’
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Werner was the first to describe the bonding features in coordination compounds. But his theory
could not answer basic questions like :
(i Why only certain elements possess the remarkable property of forming coordination
compounds ?
{(ii) Why the bonds in coordination compounds have directional properties ?
{(iii) Why coordination compounds have characteristics magnetic and optical properties ?
Many approaches have been put forth to explain the nature of bonding in coordination compounds
viz. Valence Bond Theory (VBT), Crystal Field Theory (CFT), Ligand Field Theory (LFT) and
Molecular Orbital Theory (MOT). We shall focus our attention on elementary treatment of the
application of VBT and CFT to coordination compounds.
According to this theory, the metal atom or ion under the influence of ligands can use its
{n—1)d, ns np or ns, np, nd orbitals for hybridisation to yield a set of equivalent orbitals of definite
geometry such as octahedial, tetrahedial, square planar and so on. These hybridised orbitals are
allowed to overlap with ligand orbitals that can donate electron pairs for bonding.
Which of the following pair of ions is colourless according to CFT ?
(1) Ti**, Zn2*
(2) V2+ i Mn2+
(3) SC3+ , Cu2+
(4) Cr*t,Fe3t
Options :
212807126717. 1
212807126718. 2

212807126719. 3
212807126720. 4

Question Number : 300 Question Id : 21280731680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2

gcollegeduniaa

-



Frerfafiaa s & YR W Y

Irugdses Afrwl ¥ snau ot el o aoda adyary sy few o udy ae fagty frey s we
T IW TE R A -

() # F9 @l ¥ sugegEse A 9w fafire o srar g2

(i) Swggddrer Nt F swad § fevreass o = are wrd ¥?

(i) N SwaggAre A § i ang e e sl T S €7

IraggasH A § eneye oY yefy @ wmed ¥ o ot e faw e men W@ sy fagld
(VBT), frezer & fugia (CFT), Torre & fagla (LFT), sfvass e fagly (MOT) 1 w0 4&l Fae
VBT @9 CFT % wrafies fed=m & stoan sa FHif w8

w9 Tagia % SIgaR, vl & yurE 9 g S/ ST 3199 (n— 1)d, ns np 3T ns, np, nd HEHT
Iy Gerew % oy s g & Temd fafirm sfafedt 9@ srewersrs, agsrasr, o gagel onfg %
YOS Hp U B wH 1 T dwia Fuw F s el F oy sifvery wd ¥ s gl
grver snae % forg 7 g9 @ F

frrer d - ol g CFT & SR Trde 872

(1) Ti+ , Zn2+
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(3) SC3+,C112+
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